Problem :15.14 A square pyramid , height 40 mm
and above base edge 30 mm is resting on its base
with the nearest base edge parallel and 10 mm
behind the picture plane. Station point is 50 mm
above GP and 35 mm in front of PP. Draw the

perspective view if the axis is lying in the CP.
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HW QUESTION

11.A pentagonal pyramid of height 45 mm and base edge 30mm is resting on
its base with one base edge (ROLL NUMBER +5)° with picture plane. The
entire solid is kept behind the picture plane with a base corner touching the
picture plane. The station point is 22mm infront of picture plane, 38mm to
the left of the axis and 55mm above the ground plane. Draw the perspective
view.

NOTE: Mark the angle in the figure i.e if your roll number is 10 you have
to mark 15°%in the figure



